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b) Find the value of C(s).

Attempt any four from the following o A :
What are the properties of sate transition matrix? . . . \" ’ AT A
How to find gain margin and phase margin from bode plot?
Explain any five rules of root locus plot. Sl aV S

Differentiate between open loop and close loop. system

Draw the step response of a second order undamped under damped and crltlcally damped system
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[Time: Three Hours]
S el
Please check whether you have got the right quegtrcm p‘a
Question No 1 is compulsory.
Attempt any three questions from remaining fi f’ve queshons
Assume suitable data if required. _
Figure to the right indicates full marks. -

N.B:
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Q3

Q.4

Qs

a) For the unity feedback system having
G (S) - 10(s+1)
5%(s+2)(s+10)
Determine
i, Type of system

il. Error coefficients and

z
iii.  Steady state errorfori/pas 1+4t +—E-

'Q-

b) ror the system shown below choose Vi (t) and V2 (t) as sqate v __“ia\blgs‘ap?JWrite
satisfied by them. '
N

Na (t') !

R

Figure 3 NS IR o S LN Ry
a) Sketch the root locus for an open_lo_pp transfer function._\lof-a' t_:ontrgl,-'sy’ster'p
ke s,
G{S)H(S) s(s+4)(sz+45+m} : J ) > H
b) Sketch the bode plot and determme GM QﬁQL‘PM for theiransferxfuhctlon
Glsls mmmitd) . S N S S B et
SE2HasH5) O AN S
a) Draw Nyquist plot for &
Gls)H(s) = "“”.1; and hence comment onstability. .

b) Determine. stability.
i 564285485 4+12s 3+ 2052 +165. +18
i s_-+255+s +2s%6326%-5:2=0

~ Write short note onany two from the following

a) Co ~relation between time domain and frequency domain specification.

‘b Explam the effect of addltlon of poles and zeros to the system.

fferent contlnuous compusme contro]lers

Page 2 of 2
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T1524/T104] ELECTRICAL MACHINES
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{Time. 3 Hours] i Marks:

e

Please check whether you have got the right question paper.
Question 1is compulsory

Attempt any Three question form remaining 5 Questions
Figures on the right indicate full marks

Assume suitable data if any.

N.B:

e P

h

Q.1 Attempt the following (Any Three) 1
a) State important features and applications of Brushless DC Motors
b) Is Single phase Induction Motor self-starting? Justify the answer.
¢) Compare the different Starting methods of three phase Induction Motor
d) State the significance of commutator and brushes in DC machine.

Q.2 a) Obtain the expression for full load torque of 3- ph induction motor. Also obtain the 07
conduction for maximum torque under running condition at starting.
b) Briefly describe the construction, working and control requirements of switches 08
reluctance motor

Q.3 a) A 4-pole, 500 V DC shunt motor has 720 wave connected conductor in the armature. 07
The full load armature current is 60 A and flux per pole is 0.03 wb. The armature
resistance is 0.2Q and the contact drop is 1 V per brush. Calculate the full load speed of
the motor 08
b) Explain the construction and working of permanent magnet synchronous motor

0.4 a) The power input to 6 pole, 3-ph, 50 Hz induction motor is 42 KW, the speed is 970 08
r.p.m., the stator losses are 1.2 KW and friction and windage losses are 1.8 KW.
Find '
i) Slip
i1) The rotor copper loss
iii) The b.h.p.
iv) The efficiency.

b) Explain the construction and operation of variable reluctance stepper motor, 07
Q.5 a) Discuss briefly, with the neat sketches, armature reaction in DC machine 08
b) Explain the blocked rotor test for single phase induction motor 07
Q.6 Write short note on any three: 15

a) Squirrel cage induction motor
b) DC series motor starter

~¢) Speed control of Brushless DC Motors
d) Drive circuits of Stepper Motors

9780C43F3C29912FC2827BC3174C6709



T1524 /T1040 FUNDAMENTALS OF COMMUNATION ENGINEERING:
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[Time: Three Hours]

Please check whether you have got the rlghtrque.stlon pa
N.B: 1) Questions No.1 is compulsory.
2) Attempt any three questions from the remammg fwe\questhns
3) Assume suitable data if required

Q.1 Answer any four questions from the following,

a) Would it be possible to transmit one intelligent s:gna] ;n the upper glcleband and.@ d]fferent

intelligent signal in the lower sideband of an AM ors D\SB\slgnaI;Ex’Qlam 4
b) List several sources of external noise and gweﬁhr@f deﬁcrapngn ef\each
¢) Why is PCM more resistant to noise? ; -
d) For faithful recovery of signal comment*on*sampl
e) Comment on granular noise : ]

Q.2 a) Draw the complete block diagram of the Armstrong frequency modulation system and
Explain the functions of the mixers and multipliers shown. '
b) Why is AGC needed in superhetrodyne recewer" Brleﬂy explam the function of each of the
blocks in the superhetrodyne recewer SAS A

Q.3 a) Prove that the balanced modplatt}r produces an outp\ut conmstmg of 51debands only with
the carrier removed - 2
b) Calculate the percentage power savmg when the earrLer and one ofthe sideband is
suppressed in an AM'wave modulated tor depth of a) 50% andb)100%
¢) Describe ¥ l:duu.y culd duuun:: apu*tmgo; Radlo recener

\._‘ A

Q.4 a) Define the followmwgpr‘qpagaglon‘erm
i) Critical &equency@nd Critlca] Angle ﬂ“] \Vlrtual, Helgh‘tm) MUF  iv) Skip Distance and
skip zone S
v) Free: space path loss
b) Descrlbe trequency discnmmator

.5 a) Compare Analog transmlssmn W1th Digital transm:ssmn and comment on Quantization
process, A
b) What is delta modulatlon'? Explam m detall why adaptive delta modulation is required.

Q.f erte short notes on any three.
\ 4 a] TDMand ifs. apphtatlon
C= b) Noise trlang]e
3 .‘c) \hlectrgmagnetlc rrequency spect,rum
):-Pre en;phasm and De—emphasm

F9TBF8CF494AE2E18F297DC3428AED46

(20)

(10)

(10)

(10)

(05)

-~
]
1%

[

(10)

(10)
(10)
(10)

(20)



Total Marks: 80
Note: 1. Question No. 1 is compulsory.

2. Solve any three from the remaining five questions.

3. All questions carry equal marks.
1. a. Explain the register set of the 8086. o £
b. Write a brief note on the dedicated interrupts of the 8086, & -
c. Explain the clock and reset circuits of the 80§63ystem | e

*2

d. Explain the usage of the following instructions

_ B u."‘LEA SI‘ labeI S
2. a. Explain the bus arbitration teehmques used m loosely cohpled systems Also, _ JEE (10)
highlight advantages and dlsadvantages of each N A

b. Write an assembly language. program for the 8086 to convert a Hexadeczmal number (10)

to its ASCII equivalent,

(10)

8086 workmg at 8 MHz
16 KB of EPROM usmg SKB de\qces S .
16 K%of RAM usmg 8 KB dewces ~ 5 "

1 1nput port ( 8 B1t) :
Showr the Memory, /O map and'relevant addr‘ess dec'od ing.
b Explain Memory Segmentation in the 8086 State its advantages. (10)
-4 a Expiam the cascaded mode of operatlon Ofthe 8259 PIC. Clearly explain the (10)
sequenoe of operation.
5 b Explam the 8086 8087 mterface WIth a neat diagram. Describe the role of the 8288 (10)
Bus controller m ﬂ’llS system
2 5 a, Explam wuh tbe help of neat tlmmg diagrams Mode 1 operation in the 8255 PPI. (10)

' _--Aseume ort A as 1nput port and Port B as output port.

b Interface a 4*4 mamx keypad to the 8086 . Also, write an algorithm to scan the keypad. (10)

¥ii _\(Assembl}’ language program not expected)

T879ABI9848BCA74B209B152B50D611BY



T1524/T1038 MICROPROCESSOR AND PERIPHERALS

te short notes on (any two)

a. 8237 DMA controller
b. 8085 Architecture

ri

6.

¢. String instructions of the 8086

7879AB9848BCA74B209B152B50D611B9



[Time: 3 Hours]
3. Assume suitable data if it is required.

.
.

N.B

Solve all:
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ession for Ad, Ac & CMRR for dual input balanced output differential amplifier.
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(kx,,0) is a vector space.
Q.5. a) Find the extremum of J'(z.xy - 3" )dx .

c) Check whether the set of real numbers (x,0) with operation (x,,0)
k ('tj '0)

4

LA

using Gram Sch

{{3,0,4),('1,0,7},(2,9,11)}

b) Construct an orthonormal basis of & °
S

A6770F26CF24EE77E6B958C4E | FEBETA

¢) Find all possible Laurent’s expansions of

b) Show that the vectors v




